

Theorem (Inverses are unique) Let A be an nxn invertible matrix, then there exists only one nxn matrix B where  $AB = I_n = BA.$ IF A is Notation: and AB = In = BAinvertible write B=A<sup>-1</sup> then we

Ex: We showed last time that  $\begin{pmatrix} 1 & 1 \\ 2 & 1 \end{pmatrix}^{-1} = \begin{pmatrix} -(1) \\ 2 & -() \end{pmatrix}$ 

How to find A-' if it exists Let A be an nxn matrix. Start with the matrix  $\left( A \mid \bot_{n} \right)$ Apply elementary row uperations Until the left side of the above matrix is either In or has a row of zeros. If you end up with In on the left side then A-1 will be on the right side. If you get a row of zeros un the left side then A-1 dues not exist.

 $E_{X}$ ; Let  $A = \begin{pmatrix} I \\ z \end{pmatrix}$ Find A (we already know it) exists from Mon.) - [want to try to make this Iz We get: A Iz Imake this 0  $-2R_1+R_2 \rightarrow R_2 \left( \begin{array}{c|c} 1 & 1 & 1 & 0 \\ \hline 0 & -1 & -2 & 1 \end{array} \right)$ (make this 1)

ma Ll.- $-R_{z}+R_{i}\rightarrow R_{i}\begin{pmatrix}1&0&|-1&l\\0&l&|z&-l\end{pmatrix}$  $I_{z} = A^{-1}$  $A^{-1} = \begin{pmatrix} -1 & 1 \\ 2 & -1 \end{pmatrix}$ 50,

Ex: Let  $A = \begin{pmatrix} 1 & 5 \\ -2 & -10 \end{pmatrix}$ Find A-1 if it exists. (want to make this I2)  $\begin{pmatrix} 1 & 5 & | & 0 \\ -2 & -10 & 0 & | \\ A & Iz \end{pmatrix}$  $2R_1+R_2 \rightarrow R_2 \begin{pmatrix} 1 & 5 & 1 & 0 \\ 0 & 0 & 2 & 1 \end{pmatrix}$ row of zeros on left side dues not have an ignerse.

There is no matrix 
$$A^{-1}$$
  
where  $A^{-1}A = I_{z}$ .

Ex: Find A if it exists  
When 
$$A = \begin{pmatrix} 3 & 0 & 3 \\ 1 & 1 & 2 \\ -2 & 3 & 0 \end{pmatrix}$$
.



 $R_1 \leftarrow K_2$ Make these O

 $-3R_{1}+R_{2}\rightarrow R_{2} \begin{pmatrix} 1 & 1 & 2 & 0 & 1 & 0 \\ 0 & -3 & -3 & -3 & 1 & -3 & 0 \\ \hline 2R_{1}+R_{3}\rightarrow R_{3} & 0 & 5 & 4 & 0 & 2 & 1 \\ \end{pmatrix}$ Fmake this Imake these

 $-R_{2}+R_{1}\rightarrow R_{1} \begin{pmatrix} 1 & 0 & 1 & \frac{1}{3} & 0 & 0 \\ 0 & 1 & 1 & -\frac{1}{3} & 1 & 0 \\ 0 & 0 & -1 & \frac{1}{3} & -3 & 1 \end{pmatrix}$ malce this 1)  $-R_{3} \rightarrow R_{3} \left( \begin{array}{c} 1 & 0 & 1 & \frac{1}{3} & 0 & 0 \\ 0 & 1 & \frac{1}{-\frac{1}{3}} & 1 & 0 \\ 0 & 0 & 1 & \frac{-\frac{1}{3}}{-\frac{5}{3}} & 3 & -1 \end{array} \right)$ (these 0)  $-R_{3}+R_{1} \rightarrow R_{1} \begin{pmatrix} 1 & 0 & 0 & | & z & -3 & | \\ 0 & 1 & 0 & | & 4/3 & -2 & | \\ -R_{3}+R_{2} \rightarrow R_{2} \begin{pmatrix} 0 & 0 & 1 & | & -\frac{5}{3} & 3 & -1 \\ 0 & 0 & 1 & | & -\frac{5}{3} & 3 & -1 \end{pmatrix}$  $= T_{3} \qquad A^{-1}$ 

Thus, A has an inverse and  

$$A^{-1} = \begin{pmatrix} 2 & -3 & 1 \\ 4/3 & -2 & 1 \\ -5/3 & 3 & -1 \end{pmatrix}$$

Theorem: Let A and B be  
nxn matrices that are  
both invertible [ie A<sup>-1</sup> and  
B<sup>-1</sup> exist]. Then:  
() AB is invertible and  

$$(AB)^{-1} = B^{-1}A^{-1}$$
  
() AT is invertible and  
 $(A^{-1})^{-1} = (A^{-1})^{T}$ 

Sometimes we can solve a system of linear equations Vsing an inverse matrix. But first you have to write the system as a matrix equation. Given the system  $\begin{array}{c} \alpha_{11} \chi_{1} + \alpha_{12} \chi_{2} + \dots + \alpha_{1n} \chi_{n} = b_{1} \\ \alpha_{21} \chi_{1} + \alpha_{22} \chi_{2} + \dots + \alpha_{2n} \chi_{n} = b_{2} \end{array}$  $\alpha_{m_1} \chi_1 + \alpha_{m_2} \chi_2 + \dots + \alpha_{m_n} \chi_n = b_m$ 

Let  $A = \begin{pmatrix} \alpha_{11} & \alpha_{12} & \cdots & \alpha_{1n} \\ \alpha_{21} & \alpha_{22} & \cdots & \alpha_{2n} \\ \vdots & \vdots & \vdots \\ \alpha_{m1} & \alpha_{m2} & \cdots & \alpha_{mn} \end{pmatrix}, \quad \chi = \begin{pmatrix} \chi_{1} \\ \chi_{2} \\ \vdots \\ \chi_{n} \end{pmatrix}$  $b = \begin{pmatrix} b_1 \\ b_2 \\ \vdots \\ \ddots \end{pmatrix}$ 

(\*) is equivalent to Then the matrix equation A x = bmatrix multiplication

2x - 3y =x + 4y =Ex: Consider let  $A = \begin{pmatrix} 2 & -3 \\ 1 & 4 \end{pmatrix}$  $\overrightarrow{X} = \begin{pmatrix} X \\ Y \end{pmatrix}$  $\overrightarrow{b} = \begin{pmatrix} 1 \\ 1 \end{pmatrix}$ 

Then,  $A \chi = b$ becomes  $\begin{pmatrix} 2 & -3 \\ 1 & 4 \end{pmatrix} \begin{pmatrix} \times \\ Y \end{pmatrix} = \begin{pmatrix} 1 \\ 7 \end{pmatrix}$ Lubich Gives ( )

$$\begin{pmatrix} zx - 3y \\ x + 4y \end{pmatrix} = \begin{pmatrix} 7 \\ 7 \end{pmatrix}$$

This is the same as 2x - 3y = 1x + 4y = 7